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@®© (bx—-y)+ (3x—2y) =8x—3y
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(2 +1)Bx?-2x-1) =3x* -2x3 + 2% - 2x -1




=R
[
W=
W
xR
B ED
oY on
H oW

i~~~
L B
ol T
W W
xR OR
O ET
-
A

3a+b

(3a+3b) —2b = 3a+ (3b—2Db) :




e daolal, e A xofl tiske] (x+2)(x+b) = x* +cx+6
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(x+2)(x+b) =x%+cx+6,
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4.  3(dx+5m) =P ), 6(8x + 10m) E?
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6(8x+ 10m) = 6 - 2(4x + 51) = 4 - 3(4x + bmr) = 4P
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20(x) = 2x% + 2x + 2
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ax® +bx? +1
=(x?-x-1)(ax-1)
=a*-(1+a)x*+(1-a)x+1
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a=1,b=-2
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F)Ex-1, x—22 Lhe UeAE 22t 2, 10|22
f(1) =2,£(2) = 1, 75t= UHAE ax + b} SHAL
f(x)=(x*-3x+2)0(x) +ax+b
=(x-1)(x-2)0(x)+ax+b
o 27t x = 1, x = 28 elakA
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ax® +bx* -4 = (x> +x-2)0(x

=(x-1(x+2)0(x)
plol = 1,x = -2 & 27} Ao
a+b-4=0,-8a+4b-4=0
FAS A™St EHa=1,b=3
“ab=3

ax® +bx* -4 = (x> + x - 2)(ax + 2)
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14. % A 2 4+ 1, 2 4 2% - 5x - 6 9] AFASE 1A
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2 +2x%-5x-6=(x—-2)(x +1)(x+3)
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(a® 4+ b?)(x* +y?) — (ax + by)? = 0=

25| st

a®y? + b?x® — 2abxy = 0
=, (ay—bx)2 =0
“ay—bx=0(. a, x, b,

y
wEbA, gy = bx oAl 2 = %
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16. o34 f(x
0
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® 1 @2 @) @ 4 ® 5

8

f(x) = (x=3)0(x) + 1

0(2) = -2

() B x—22 W deiAlE f(2)0let
f(2) = (2-3)0(2) +1

-1x(-2)+1=3
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(¥ =x+3) f(x) = (x+1)Q(x) + R
x=-194Y

S R=5f(-1)=5x2=10
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20. o] Zk& H5HH?
0 2003 x 2000 ) W& Tt

2003 = x=F FH 2004 = x + 1
(x+1)3-x*-1
x(x+1)
3x(x+1)
= — =3
x(x+1)
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21. 2 -p2 =29 W, ((a+b)"+ (a-b)"2 - {(a+b)" - (a—b)"}2 Y]
29

@ on @ 2n+1 @ 2n+2 @ 2n+3 @ 2n+4

B *

(a+b)"=A, (a-b)"=B
(£41) = (A 4+ 2AB + B?) — (A% - 2AB + B?)
= 4AB
=4{(a+b)(a-b)}"
=4x2"
— ont2
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22. ala+1) =19 W, —— o Fh27
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ala+1) =194

a>=-a+1

a4:(—a+1)2:a2—2a+1
=(-a+1)-2a+1=-3a+2

a’ =a*xa® = (-3a+2)(-a+1)

=-8a+5
at-a®> -3a+2-(-a+1)
ab-1 —8a+5

-1
~2a+1 = -2a+1

4

I&+4_4p%+n

=3a®-5a+2=3(-a+1)-5a+2




23. F oA f(x).g(x) o Hisk] f(x) +g(x) E x+1 = HFH o]
x)—g(x) B x+1 2 Urd Ywx]7} 20|t} ok [27]]

of Al FolA) x4 1 2 o] WA 2 B M2

@ x+ f(x) © x-gx)
© x+ f(x)g(x)

O, @< AHste] EH f(-1) =1,g(-1) = -1

B719 A FollM x+1 2 o] BojAl= A2 x = -1 &
st Ae] ghel 0 of Hrt.

O-1+f(-1)=-1+1=0

©-1-g(-1)=-14+1=0

© -1+ f(-1)g(-1) = -1+ 1x (1) = -2
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24. A% a, b, col Nk [a, b, ] = a® + beB SHAL x +y 4z = 10,
X2y + 2 =129 1, [x, 2y, 2+ [y, 2z, 2] + [z, 2x, y] O] R0

@® 10 @ 22 ® 88 (@)100 ® 144

B ~

[x, 2y, 2+ [y, 22, ] + [z, 2x, V)]
= x2 + 2yz +y? + 2zx + 22 + 2xy
= x2 +y% + 22 + 2xy + 2yz + 2zx
= (x+y+2)? =100




25.

f(x) = +ax+b, g(x) = x* + ex+d7F b5 2SO

ab—c+d9 3ke?

© f(1)=-4,g4(0)=5

@ f(x), g(x) 9 AAaFHPE 3 +3x2 - 13x - 150t}

@ -31 @ -11 3)5 @ 13
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T oA e HasHie
¥ +3x2-13x-15= (x +
A T ATN FAFEE f(1) =4,

=

=
fx)=x+1)(x-3)=x*-2x-3
gx)=(@+1)(x+5)=22+6x+5
a=-2b=-3,c=6,d=5
~ab—c+d=5




